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EEALALL
Ngs &5 2 A2 (+SLNE/EZ)
NeEesI2el (9 ®2
A BB O(B) - NEAY - BAS sy S RS2
Ol &
01 =0t 17,000 {7,000 0
OXNEERX2e|RFE A 17,000
203 R F&d| 5,000 5,000 0
03 AEFIHRFAH| 5,000 5,000 0
OXgER X 2tel A =2 5,000
206 M2 H 20,000 17,000 3,000
01 M=Hl 20,000 17,000 3,000
OMddgESs2s 7 20,000
401 AM&HIL 2048 4,900,000 5,300,000 A400,000
01 Al&H| 4,852,000 5,244,000 A 392,000
OXEERX 22| A Al &I 4,852,000
03 AIE=20HI 48,000 56,000 A 8,000
OX 2SS X 22| A Al 48,000
405 KHoHESHI 226,400 146,000 80,400
01 XL SSFSHI 224,900 145,000 79,900
D220 210,000
AP ED| 4,000
CJOtAZELZIAZEE 4,000
OXEsdIEI| 7 500
OsAI7 5,000
OvV(dgss) 1,000
OC X2 & el 400
02 STl 1,500 1,000 500
OALSAEHNERE 1,000
JEAASAEEES 500
TEord e 500,000 0 500,000
401 AM&HIL 2048 500,000 0 500,000
01 Al&H| 496,000 0 496,000
S ZorA 22| AP Al & I 496,000
03 Al =204y 4,000 0 4,000
OS2 orM e AL Al 4,000
P 108,000 85,000 18,000
201 LBt 3| 31,500 13,500 18,000
01 AR 22| 6,500 6,500 0
O et=~=EH| 3,000
OMRHEEEER 3,000
ol =4l 3,500
OHsl =44 (OF2) Il =4I
500,000& »7H 3,500




SN BERALAMYL
F: e &5 2 U2 (+SLNS/ER)
el A=z 2l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 =234l 25,000 7,000 18,000
DAl ZHI R X 25,000
OHZAAMELEHIRXHIS 3,000
O0IsSAESINEHAMES 2,000
ORNBIEEZAFSIIRNE=AE 20,000
202 (4Hl 21,000 21,000 0
01 =LA bl 21,000 21,000 0
O HHEALF A0 21,000
401 Al&HI LR OHYI 50,500 50,500 0
01 Al&HI 50,000 50,000 0
D2 st E X 24A X 50,000
03 Al R0 500 500 0
D28 MetE X HE XA R0 500
CZ2HE LS 3,605,977 1,499,500 2,106,477
201 LetHH| 5,977 0 5,977
02 =234l 5,977 0 5,977
OAIE ZHI R X 5,977
ORLetSMELZEY HRAEHI 5,977
401 A &HI YL 204 3,600,000 1,499,500 2,100,500
01 Al&HI 3,591,000 1,494,000 2,097,000
O HE M ASHAFS Al A I 3,591,000
03 A&yl 9,000 5,500 3,500
OS2 HE A A AS Al 24| 9,000
St S2e| M AHS 2,350,000 2,000,000 350,000
= 1,175,000
L= 1,175,000
FIEE=2RZME 1,500,000 1,800,000 300,000
= 750,000
& 750,000
401 Al&HIZL=ROHYI 1,500,000 1,800,000 300,000
& 750,000
& 750,000
01 Al&H| 1,492,000 1,786,000 A294,000
ORE 22 ZNE A EHI 1,492,000
= 746,000
= 746,000
03 Al =R0idl 8,000 14,000 26,000
ORKIEE2 2R Al Z 20| 8,000
& 4,000
T 4,000
WEADR2RIHH 700,000 200,000 500,000
= 350,000
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401 Al&HI LSO 700,000 200,000 500,000
= 350,000
= 350,000
01 Al&HI 695,000 197,600 497,400
OwsSADR2ZINE AL 695,000
= 347,500
= 347,500
03 AIZ=R0i4l 5,000 2,400 2,600
OWSADE2RIONE AL 20 5,000
= 2,500
= 2,500
HelolEs oA 150,000 0 150,000
= 75,000
= 75,000
401 Al&HIZL=ROHYI 150,000 0 150,000
& 75,000
& 75,000
01 AlZHI 148,000 0 148,000
O o232 Al 4| 148,000
= 74,000
= 74,000
03 A4 2,000 0 2,000
O gol2s 79 A4 R0 2,000
= 1,000
= 1,000
we -2 2 ot 6,920,000 6,160,000 760,000
e OHXAL 5,000,000 5,000,000 0
401 Al HI YL SO 5,000,000 5,000,000 0
01 Al&HI 4,965,000 4,947,000 18,000
O SN HMAS Al 2 I 4,965,000
03 AIZR0iH 35,000 53,000 A 18,000
OIS ALS Al E R THHI 35,000
g B BEAMY 1,423,000 920,000 503,000
202 O4Hl 20,000 20,000 0
01 WY 20,000 20,000 0
Ows8=AE =80 20,000
401 Al&HI LSO 1,403,000 900,000 503,000
01 Al&HI 1,395,000 890,000 505,000
OuwEE A Al & H| 1,395,000
03 AIZ SR04l 8,000 10,000 22,000
O EE A AIE RO 8,000




EEAMAY L
NYES 25 2 RA22(FELDS/E2)
e N 24 L oFBE

M- M- SH2(3H) - NRAY - BHAES e dd T Hos
- 71 (2 . T Nrs oS = &= 04| AFOH U=sa

ek HUOHMEAI T 115,000 110,000 5,000

401 AIEHIZ 2] 115,000 110,000 5,000

01 Al&HI 113,000 105,000 8,000
OnSHE UM X CHAl &I 113,000

03 A&l 2,000 5,000 A3,000
OuSE UM XAl LS04 2,000

e 39y 258,000 100,000 158,000

401 AIEHIZ2b] 258,000 100,000 158,000

01 Al&HI 255,000 95,000 160,000
OuseEdUEH AL 255,000

03 A&l 3,000 5,000 A2,000
OusEdUZZAL208] 3,000

g sdHetEXE &X 115,000 0 115,000

401 AIEHIZ 20 115,000 0 115,000

01 Al&HI 113,500 0 113,500
OnedSsHH st EX A X A& 113,500

03 Al =20HY| 1,500 0 1,500
OuesaHMstEXEE XAl E 20| 1,500

HE sXE=+ 9,000 30,000 221,000

401 AIEHIZ 2O 9,000 30,000 A21,000

01 Al&HI 8,500 29,000 220,500
OJHEY RANE=Al4H| 8,500

03 Al =20HY| 500 1,000 A500
OHERXEa=A4 208 500

Ha2g 63,835 66,435 A2,600

SEAEAHA 63,835 66,435 A2,600

101 eIyl 6,155 6,155 0

04 JIZtHZ22XSE+ 6,155 6,155 0
OALEZEANERLY 38,850& * 1Y 150 5,828
CI5CHAtRI 2 & 327

201 22| 15,000 15,000 0

01 AtR2t2ldl 15,000 15,000 0
JYet==ZH| 14,000
OsEsddEXNRLUS 3,000
O EJL=AIIEHS 3,000
OZZANEI | EH A 4,000
OKSAAZ== 2,000
QH2I=Helbls 2,000




SN BEALALL
HH: (YE HE L RABA(ALLDS/ER)
ol AEA S (92
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 il b o HRE2
LIl =4l 1,000
ONgaZe=mTY 1,000
202 Oddl 28,000 28,000 0
01 WY 28,000 28,000 0
OBRAELRE0IY| 28,000
207 AN 6,680 6,680 0
03 AlZ &+l 6,680 6,680 0
OAESIIHHLII 7Y 6,680
onAadeds 50,000& 205 1,000
OHEEAM 35,0003 x20 & 700
ONgigm 1,2002*1,000Z 2 1,200
OB2EAS 3,000 +335 +207H 780
OANELZTLLAMEZS 100,000& 155 #2323 3,000
405 RtaHE S| 8,000 10,600 £2,600
01 T =S FH SHI 8,000 10,600 A2,600
OXAsSCEAIED] 8,000
HAts Xl 2el 88,132 86,932 1,200
ANEESFI2 88,132 86,932 1,200
101 2124l 0,932 10,932 0
04 JIZHMIZ2XNSE = 10,932 10,932 0
BEPER LT 52,2802 +12§%1202! 6,274
ORNLKHERSOILY 38,8502 %6 +153] 3,497
CI5CHALSI 28 1,161
201 LEH2HH| 40,000 40,000 0
02 3=l 40,000 40,000 0
[IRtaR=a] 25,000
OFAMHESHZH 25,000
OAIE ZHI R X 15,000
Oe - HESANaSSTBY) 15,000
204 MR A 37,200 36,000 1,200
03 SEYRAH 37,200 36,000 1,200
Ol e sl 50,0003 62 x12& 37,200
HYSAAY (B AL ML L)(IEHIIEH 3,670,381 3,605,704 64,677
ol 2 bl 3,278,721 3,249,831 28,890
eI 2| 3,278,721 3,249,831 28,890
101 el 24| 3,150,501 3,132,531 17,970
01 B= 2,762,410 2,795,907 A 33,497
2= 1,543,773
Os=H 1,543,773




SN BEALAL L
B WS AR (SEALAYL)OIEIIE)
& QI 2A|
SN B SRA(SIH) - MBAY - BAS 0 & 24 e
- 43 (285 3) 3,235,600 «1E»12& 38,828
-53(30&88) 2,961,300& *4H »12& 142,143
-63 (245 8) 2,427,400 x11E 123 320,417
-72(1588) 1,862,700 x 13« 123 290,582
-8=2(1288) 1,537,000& x7E ~ 123 129,108
- 8383 (1028) 1,438,200& x1E 123 17,259
-J1s62(3088) 2,576,200& 2 «12& 61,829
-Jls72(28538) 2,295,300 6«12 165,262
-J1s82(2058) 1,855,600 13 «12& 289,474
-J159=(1088) 1,289,900 x4 »12& 61,916
-Jls102(988) 1,123, 100& »2E 123 26,955
(IR0 128,648
O&z2=+¢ 1,543,773,000& *1/12 128,648
O=% 433,589
OAZI2Z2H 230,742
- AR 8,312 «60H x10Al 2+ <128 59,847
- == 170,895
RIS 8,312& x60H »25A| 2+ 12 149,616
OlstH= 8,312 x2H +4A| 2t+502 3,325
DEZEA 88,3123 +x3F+60A 2+ 12& 17,954
ONJITEZALEQRANTY 7,981
- 2ukA 2,771 +10L +8AI 2H+3H + 123 7,981
OJts=¥ 42,360
- BHS A 40,0003 x50E «12& 24,000
- JIEHEE 20,0003 x60E x12& 14,400
AR = 30,0003 *11E«12& 3,960
OXdstdl = 18,116
-SsH 51,990& 12 »43] 2,496
-1SEM 433,880& 9% #43| 15,620
(OFSFmtol= ) Fag= 72,960
- 253014 130,000& #23H » 123 35,880
- 20901 4~25E 012 110,000« 12« 123 15,840
- 1568 0l &f~204 0] & 80,000 x9H «12& 8,640
- 104901 &~154012F 60,0002 10 +12& 7,200
- 53 0] &~10E 0] 2F 50,0003 x99 «12& 5,400
O h= =t e = 2,280
-23E 50,0003 x3E x12& 1,800
-23 40,0002 x1H« 128 480
OREIRASE 50,000 x2H «12& 1,200
OURERE=E 23,855
-Jls6EUSR
2,295,300% x4 . 8%*14H 128 18,510




SN

ZEALA A
ME: WIS YA (ZHALAYA)(OIEHIIE
el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-JIs7T=2S 1,855,600& *4.8%+5 123 5,345
Ol 3,235,600 9% 1H x 12 3,495
OExg=R=¢ 30,600
-JlsdEsE 30,600
53014 50,0003 x5 »12& 3,000
6.72 30,0002 x36E «12& 12,960
- 8205} 20,0002 *15% * 128 3,600
B (IS E A
30,0002 x20H « 123 7,200
COMS(AHIIAL) 20,0002 6« 128 1,440
RS (2 E) 10,000 x5 12 600
Hta(2dd) 20,000 x5 x12& 1,200
HAAR(3EH0I4) 50,000 «1H«122 600
O&E s AHI 130,000 64 « 123 99,840
OS2 x| 97,200
04,52 140,000& x5E x12& 8,400
06,72 130,000 32 122 49,920
O8=0lat 120,000 «27H « 128 38,880
OZESMH 1,543,773,0002! %1/ 12+60%+23] 54,378
B DAL
1,543,773,000& *1/12%16. 7%+ 122 257,811
Lot 2l 128,647, 7503 +1/30* 11 47,171
02 DIt 2= 152,801 141,411 11,390
O3 152,801
O==30ss) 1,883,233& 38« 12& 67,797
odza=¢ 67,797 ,000& *1/12%100% 5,650
OFSEett= e 3,600
- 208 0la~25E 018 110,000& 2H « 12 2,640
- 158 01 &~204 0 2t 80,000& «1& 128 960
OAZtel=& 19,788
-Z=E 6,342 x3B x60A| 2t 12E 13,699
- B2 A0
2, 1143 x102 +8BA| 2t+3E » 12 6,089
(OIE=J-g=-F= 3,000
OJE=¢ 2,520
- B Xt 40,0003 «3&H*12& 1,440
- 2R 20,0003 «3& =128 720
- Jhek= 30,0003 «1H 122 360
OXNHSHI XY 5,831
- S8t 51,9903 x3& »43| 624
-ussd 433,880 »3& «42] 5,207
OT=STAM=Z(XE) 30,000 «1H+122 360




SN BEASAY L
ME: WIS YA (ZHALAYA)(OIEHIIE
& QI 2A| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SEEEETENEN eI T
450,000& »3¥ 1,350
O&gE=Hl 105,000& 3+ 12& 3,780
Ooug e sl 50,0003 x3E «12& 1,800
OZAZAHI 130,000& 3+ 12& 4,680
Ousg2=| 120,000 *3H 12 4,320
Og&EsItyl 67,797,000% *1/12x60%*23] 6,780
OJtAXI2El 67,797,000 x1/12x16. 7%+ 123 11,323
OEItE 4H| 5,649,699% x1/30x 11 2,072
OHd1latt= 8,150
03 RIAHAZZNE = 235,290 195,213 40,077
Ocz2+3 136,850
oJl=z=s 44,980 x5 H 249 56,001
Odd= 56,001,000 *1/12+400% 18,667
Ox=&=¢ 44 9803 x5 H x52L 11,695
Ogxt=¢ 44 9803 x5 H x25 5,623
on =l 150, 000& x5 »23| 1,500
oo 32,400
OFg2f=H 44 ,980% *1.5+5H 20 6,747
OARI2I 282+
44,9803 x1/8%1.5x5H x4 A| 2tx25 4,217
O=ESAMEEXRS 72,060
(OPIR===1 38,850 x4 H 249 38,695
O&d= 38,695,000 *1/12%400% 12,899
O=&=¢ 38,8503 x4 H x5 8,081
Ogxt=¢ 38,8503 x4 H x5 3,885
OESANEEXZH E4TREANI 8,500
OwsE =l 60,000 x9H «12& 6,480
O E S0t 150,000 «9H »23] 2,700
LI5CHALS 28 16,200
O A4S RS AAH 250,000 *1H *43] 1,000
204 XA 113,820 107,700 6,120
02 M EXH 113,820 107,700 6,120
L4= 400,000 x 1« 123 4,800
15 250,000& x4H~ 123 12,000
fe=(J1s632) 155,000& «13F »12& 24,180
Or201s73) 140,000& «36H 122 60,480
[18~93(J158~92) 105,000 x8H 12 10,080
21s102 95,000 x2H 128 2,280
303 L&z 14,400 9,600 4,800
01 Z&32 14,400 9,600 4,800
Odgxsot2ss 120,000 *10E x12& 14,400
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SA: BHALAYA

HH: HHSAZH(SEALEALA)(JIEH/DIEH

&t JI=3l (ctel: &
=] X EH . CLO (5 HALO . HA D A} OH &EIE 5 =02
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OUI0I™ (Z2t)
O2 A AIED]
OCIXIgstolet
OYI(NFASA)
CgH = =240l 01 (4CH)
O&Z21(100H)

1,500
1,300

400
1,000
3,200
1,000
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